Al (7x2 = Bx + 6) — (3x2 — 2x + 4) = 7hhs] 52

@4x2—3x+2 @ 4x2-3x+10 @ 4x2-7x-2

@4x2—7x+2 @4x2_7x_|_10

(7x2 = 5x + 6) — (3x2 = 2x + 4)
= Tx% = 5x+ 6 - 3x% + 2x — 4
=4x? - 3x+2
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@ a® + 2ab + b? (@)aQ—Qab—i—b2 ® a®-b?

@ a?®+b? ® 2ab

Hol)= (a-b)? = a® - 2ab + b?




3. (a+b+c)*S ZNstaA?

@ a2+b2+c2

@ a®+b>2+c?+ab+bc+ca
® a+b*+ct+a+b+c
@ a®+b>+c?+2a+2b+2c

(@)a2 + b2 + % 4 2ab + 2bc + 2ca
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a+b =1tz otH
(a+b+c)?=(t+c)?
=12 4+ 2ct + 2

= (a+b)? +2c(a+b) + c?

= a® + 2ab + b% + 2ca + 2bc + 2
=a® + b? + ¢ + 2ab + 2bc + 2ca







5. x+y=9 x=3¢ M, x*+y?—xy 9 32?

@ 52 @ 56 ® 60 @72 ® 80

2 —xy+y® =(x+y)*-3xy
—92_3x3




H#H A (2x-5y) : (-3x—y) =3:4 S x o &

@x:y @x:2y

@ x=4y ® x =5y

Sto] E17

® x=3y

~&B

3(=3x—y) = 4(2x - 5y)
—9x — 3y = 8x — 20y
—17x =17y

Lx=y




